

$(T_j)_{j \in \mathbb{N}} \subset \mathcal{D}'(\mathbb{R}^n)$ converges to $T_\infty \in \mathcal{D}'(\mathbb{R}^n)$

$$\Leftrightarrow \forall f \in \mathcal{D}(\mathbb{R}^n): \lim_{j \rightarrow \infty} T_j(f) = T_\infty(f)$$

$$\partial^\alpha T_j(f) = (-1)^{|\alpha|} T_j(\partial^\alpha f)$$

because $\partial^\alpha f \in \mathcal{D}(\mathbb{R}^n)$, so $\lim_{j \rightarrow \infty} (-1)^{|\alpha|} T_j(\partial^\alpha f) = (-1)^{|\alpha|} T_\infty(\partial^\alpha f)$

therefore $\lim_{j \rightarrow \infty} \partial^\alpha T_j(f) = \partial^\alpha T_\infty(f) \quad \forall f \in \mathcal{D}(\mathbb{R}^n)$

now $(\partial^\alpha T_j)_{j \in \mathbb{N}}$ converges to $\partial^\alpha T_\infty$

when $(T_j)_{j \in \mathbb{N}} \subset \mathcal{D}'(\mathbb{R}^n)$ converges to $T_\infty \in \mathcal{D}'(\mathbb{R}^n)$

$\forall \alpha \in \mathbb{N}^n$